LZRE

BRiRA A FR Bk By | SUBE|ZERE| BH 5 &
FEIR
BLKEMBZL HPPE (EFZ At A ZE%) L=5.00m 100 P 62 310m# £%(5%0m)
¢ 100(P) HPPE(E %) L=5.00m 100 P 10 48m# E% (5% 2m)
HiVP L=4.00m 100 P 1 4m# §%(5%0m)
vsTaq ok ¢ 100 & 2
AHEEE (V) 100 {& 2
ANEHE P> (VEEREEHR ¢ 100 & 2
AHEEE (P) ¢ 100 {& 4
ANBTFE(P) $ 100 % ¢ 50 & 1
EFmZEENRUK) $100x11° 1/4 | & 2
EFV/ryk ¢ 100 & 2
EFfiZF—X ¢100x ¢ 100 | & 1
AR —k BRI —b W=150S m 362.0
BLKEMBZL HPPE (EFZ At A ZE%) L=5.00m ¢ 50 P 1 5m7i £%(5%0m)
(€::35)) HPPE (%) L=5.00m ¢ 50 & 1 5m7i §%(5%0m)
¢ 50(P)— ¢ 50(V) |HiVP(E &) L=4.00m ¢ 50 & 2 5m7 §%(5%3m)
AHEEE (V) ¢ 50 x 45° {& 2
vSTaq vk 50 & 1
AR —k BRI —b W=150S m 15.0
BLKEMBZL HPPE(E %) L=5.00m ® 150 & 1 5m7i §%(5%0m)
(€::35)) HiVP(E &) L=4.00m ® 150 & 1 2m# Ex(5%2m)
®150(P)— ¢ 150(V)|EFI 2 F—X ¢150x ¢ 100 | & 1
AHEE (P)x (VEH ¢ 150 x 45° & 1
AHEEE (V) @ 150 X 45° & 1
vsTaq ok ¢ 150 & 1
EFLTa1—H%— ¢150x ¢ 100 | & 1
AR —k BRI —b W=150S m 7.0
BLKEMBZL HPPE (EFZ At A ZE%) L=5.00m ¢ 75 P 1 5m7i §%(5%0m)
(€::35)) HiVP(E®&) L=4.00m ¢ 75 & 1 2m# &k (5%2m)
EFLTa1—H%— ®100% ¢ 75 & 1
@ 75(P)— @ 75 (V)| A H BB E (P) x (V)ZE iR 75 {& 1
ANEIEE (V) 75 & 1
vSTaq vk ®75 & 1
AR —k BRI —b W=150S m 7.0




LZRE

BRiRA A FR Bk By | SUBE|ZERE| BH 5 &
HUIFHET RURA—AEYIR — LY F ¢ 100 = 4
¢ 100(P) o= H=800 #A 1
HUIFHET FHRALUF ¢ 50 H 1
¢ 50(P)— ¢ 50(V) [HH LtV ryk(P) ¢ 50 & 1
Bl iryk(v) @50 & 1
5= H=1200 #H 1
ERAFRET NSRS (A1) 25 & 1
ZERARVIR $350 H=800 | f& 1
YRV KR GRUER) ®100% 25 & 1
GPF+wbk 25 & 1
GPY vk 25 {& 1
mEviryk $30%x ¢25 & 1
HARBET HARR (R 75 H 1
fHEF H=200 ¢ 75 = 1
ANBISUMHERTEE $100x% ¢ 75 & 1
ISUTHMFH 75 & 2
HNRRE H=800 #H 1
HWAKIBL [YRLEEDKEGEVRAER) 100X ¢ 50 & 0 A7 — R XM R A)
ALAHF ¢ 50 & 1
HRILSKEE HiVP  L=4.00m ¢ 50 x 3 12m x 144
¢ 100x ¢ 50 HITJLAR $20 1 3
HiVA7 vk ¢ 20 {& 1
YRILFESKREVRER) ®100% ¢20 & 7 a7 —KE
. AHMTF $20 & 7
ZT&'{%K;? HiVP  L=4.00m 20 X 2 1.0mx 14
HIiT LR ¢ 20 & 14
HiV7 vk ¢ 20 {& 7
BHRI—k ARy —b W=150S m 19.0 1.0m X 7{4+12.0m




FHE

BRIRA 2% & Hir| 29%=E | £EHE i w =
FRIX
EKEMZET RUIFLUEMZTL ¢$ 100 m 358.0
$100(P) EEEEEZLERERT ¢ 100 m 40
RUTFLUEYMT $ 100 | 5
RYIFLUEMTF I (MBERS) | 0100 1OMF | &HFF 62
RYIFLUEMTFI(MERS) | 0100 208F | &FF 5
AN=HILBFI(PV) ¢ 100 | 22
EBRHRI—F BRI —bk m 362.0
EKEMZET RUIFLUEMZTL $50 m 100
(3E#%) EEIEIEE- L ERET $50 m 50
$50(P)— p50 (VI RUTFLUEMF I (BEESR) ¢50 204F | &Fr 1
ANZHILBFT ®50 | 6
EBRHRI—F BRI —bk m 15.0
EKEMZET RYUIFLUEMZTL 150 m 50
(3E#%) EEIEIEE=LERE 150 m 20
@ 150(P) =150 (|7/RYTFL U ELIMT T ¢ 150 a 1
RYIFLUEMTF I (MERS) | 0150 1OMF | &7 1
RYIFLUEMTF I (MERS) | 0150 208F | &7 1
AN=HILBFIPV) 150 | 6
EBHRI—F BRI —bk m 7.0
EKEMZET RYUIFLUEMZTL 75 m 50
EEIELEEZLEMSE ¢ 75 m 2.0
RYIFLUEMTFI(MERS) | 0100 1OMF | &HFF 1
¢ 75(P) RUIFLUERFI (BEES) 675 10O0#F | &rr 1
AN=HILBFIPV) ®75 | 6
EBHRI—F BRI —bk m 7.0
EKEER BKEERT HRKERE H 0.196 391.0m/2,000H=0.196 81




FHE

BRIRA 2% & Hir| 29%=E | £EHE i w =
FRIX
TUHFFRET TUFFRET ¢ 100 = 4
¢ 100 AN=HIBFET(P) ¢ 100 O 8
HERET H=800 #8 4
BEHE 58 4
HUAZRET |[EUHFRET $50 = 1
@50(P)—(V) [HRE/NORERLAHES $50 | 2
RUIFLUEHRFT $50 A 2
HERET H=1200 #8 1
BEHE 58 2
EEAREL |ESARETL 25 = 1
YRS KEFRETL GRYER) ®100% 25 {& 1
HERLAAT ¢ 30 | 1
" 25 | 2
HERET H=800 #8 1
BERE & 1
HMRERET |HARRET 75 = 1
ANZHILBFI(P) ¢$ 100 | 2
ISUUMBFT o75 O 1
HERET H=800 #8 1
BEHE & 1
eAKkgIBT YRS KEFRETL RUER »100% ¢ 50 & 1 14
HRILSKEE HERCAAT $50 | 1
$ 100X ¢ 50 E-—ILEMmZT ¢ 50 m 12.0
TS#FT 50 | 8
eAKkgIBT YRS KEFRETL RUEH »100% 20 & 7 AL
HRILSKEE HERCAAHT $20 | 7
$100% 20 E-—ILEMmZT $20 m 70
TS#FT 20 | 42
FHRI— W=150S m 19.0




£ fa & | B o = BEtHE
TERIR
BLKEMBT H=800 | MFE(D 060 m X 0985 m X 3620 m = 21394 m3
H=1200 | BFEQ 060 m x 1320 m X 150 m = 1188 m3
HEWMERIET H=800 | EFE® 060 m x 1.040 m X 70 m = 437 m3
H=800 | HFE@® 060 m x 0950 m X 70 m = 399 m3
ast = 23418 m3 230
H=800 | HFE®D 060 m x 0325 m X 3620 m = 7059 m3
ERERELT H—_1200 HrE@ 060 m X 0260 m X 150 m = 234 m3
EEEF oS H=800 | HFTE® 060 m X 0380 m X 70 m = 160 m3
H=800 | HFE@ 060 m X 0290 m X 70 m = 122 m3
&% = 7453 m3 70
H=800 | MFE®D 060 m X 0490 m X 3620 m = 106.43 m3
_ H=1200 | BFEQ 060 m x 0890 m X 150 m = 801 m3
?ggﬁ%bl H=800 | HFE® 060 m X 0490 m X 70 m = 206 m3
H=800 | HFE@® 060 m x 0490 m X 70 m = 206 m3
ast = 11855 m3 120
BT = 10245 m3 100
TRERET t=10cm | RC-30 060 m x 3910 m = 23460 m2 235
TERET t=8cm M-30 060 m X 3910 m = 23460 m2 235
RAsEHET t=3cm FE AL 060 m x 3910 m = 23460 m2 235
AREIHAsEHZET t=4cm EHI 080 m X 3910 m = 312.80 m2 313
AsEHERRYIMT T t=4cm 386m X 4 = 15440 m 1544
AsEliZE IR T t=4cm 080 m X 3860 m = 308.80 m2 309
CoffZE iRt T t=10cm 5mXx4 = 2000 m 20
CofisEm BT t=10cm 080 m X 50 m = 400 m2 4
Coffi - LT 4.0x0.1 = 040 m3 0.4
{RAsTHEERBER T t=3cm 060 m x 3910 m = 23460 m2 235
AsSHIERER- LS T 309 x 0.04+235 X 0.03 = 1939 m3 19
HWAKEMRT |[HEKREL H=800 | As&hi 060 m X 0985 m X 190 m = 1123 m3 10
N=844 BWHERLT FEFYT 060 m X 0290 m X 190 m = 331 m3 3
HIERLT H=800 060 m x 0490 m X 190 m = 559 m3 6
HIAMET 3.55-1.76 = 6.27 m3 6
TRERET t=10cm | RC-30 060 m X 190 m = 1140 m2 1
LERET t=8cm M-30 060 m 190 m = 1140 m2 11
AREIHAsEHZET t=4cm ZHI 080 m 190 m = 1520 m2 15
AsEHERRUIMT T t=4cm = 280 m 28
AsSHIERREERE T t=4cm 080 m x 70 m = 560 m2 5
CoffiZErR U T t=10cm 12m x4 = 4800 m 48
CoffEhR BT t=10cm 080 m X 120 m = 9.60 m2 10
CofhE - T 12.0X 0.1 = 120 m3 1
{RASTHEERBER T t=3cm 060 m X 190 m = 11.40 m2 11
AsEHEFLEM -0 T 5% 0.04+11 X 0.03 = 057 m3 0.6




$100 HiVP fid K & B & %
UEE (m) DIH*NT]
%4 (m) Y 1T
=] forcs Vo P
F B OB M v RO ERE g . I
5]
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HiVP 100 5. 000 1. 000 1. 000 1. 000 1. 000 4. 000 1. 000 4 1
(=g
2 HiVP
3
4 B = 100
5
6 HihE| 5.000
7
8
9
10
i 5. 000 1. 000 1. 000 1. 000 1. 000 4. 000 1. 000 4
5. 000 1. 000 1. 000 1. 000 1. 000 4. 000 1. 000 4. 000




¢ 100 HPPE fid K & b & £
PEE (m) DIHNI]
%4 (m) I T
=] forcs Vo P
&5 B HE B RO ERE 2 g . i
5]
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HPPE 100 5. 000 3. 000 2. 000 5. 000 1 1
(=g
2 HPPE 100 5. 000 3. 000 2. 000 5. 000 1 HPPE
3 HPPE 100 5. 000 1. 500 1. 500 2. 000 5. 000 2
4 HPPE 100 5. 000 5. 000 5. 000 B = 100
5 HPPE 100 5. 000 5. 000 5. 000
6 HPPE 100 5. 000 5. 000 5. 000 HEE| 5.000
7 HPPE 100 5. 000 5. 000 5. 000
8 HPPE 100 5. 000 5. 000 5. 000
9 HPPE 100 5. 000 3. 000 2. 000 5. 000 1
10 HPPE 100 5. 000 3. 000 3. 000 2. 000
i 50. 000 38. 500 7.500 2. 000 48. 000 2. 000 5
50. 000 38. 500 7.500 2. 000 48. 000 2. 000 5. 000




¢50 HPPE fid K & 4] & &
UEE (m) DIH*NT]
%4 (m) Y 1T
=] forcs Vo P
7B R B0 ERE o g . firg
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HPPE 50 5. 000 5. 000 5. 000 =0 EE 1
(=g
2 HPPE 50 5. 000 5. 000 5. 000 HPPE
T = 50
HahE| 5.000
i 10. 000 10. 000 10. 000
10. 000 10. 000 10. 000




¢50 HiVP fid K & b & &
UEE (m) DIHNI]
7%%E (m) Gl T
=] forcs Vo P
7B R B0 ERE o g . firg
5]
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HiVP 50 4. 000 3. 000 1. 000 4. 000 1
ERE
2 HiVP 50 4. 000 1. 000 1. 000 3. 000 HiVP
B = 50
BHahE| 4.000
i 8. 000 4. 000 1. 000 5. 000 3. 000
8. 000 4. 000 1. 000 5. 000 3. 000




075 HPPE fid K & b & &
UEE (m) DIH*NT]
: Ik
5 OEM R |0 ERE S e L fi
-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HPPE 75 5. 000 5. 000 5. 000 1
B
2 HPPE
3
ER= 75
HahE| 5.000
3 5. 000 5. 000 5. 000
5. 000 5. 000 5. 000




$150 HPPE fid K & 41 & %
UEE (m) DIH*NT]
2 gk
B mm RO ERE S BE (m) ST T i
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HPPE 150 5. 000 4. 000 1. 000 5. 000 1 1
(=g
HPPE
B = 150
HahE| 5.000
3 5. 000 4. 000 1. 000 5. 000 1
5. 000 4. 000 1. 000 5. 000 1. 000




¢ 150 HiVP fid K & b & &
UEE (m) DIH*NT]
%4 (m) Y 1T
=] P’ Vo P
7B R B0 ERE o g . firg
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HiVP 150 4. 000 1. 000 1. 000 2. 000 2. 000 1
(=g
HiVP
ER= 150
BHahE| 4.000
i 4. 000 1. 000 1. 000 2. 000 2. 000
4. 000 1. 000 1. 000 2. 000 2. 000




